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CBT Sample assessment model answers

Cash Management (CSHM)

Sample assessment 2

Task 1
[image: image2.png]Use the table below to reconcile the opening cash position with the forecast closing cash position at 31 December 20X4.
Use minus signs where appropriate.

Operating profit 232000
Change in inventories 127000
Change in trade receivables -32000
Change in trade payables 36000

Adjustmentfor non-cash items 62000

Purchase of non-current assets -382000
Taxpaid 55000
Netchange in cash position -266000
Forecast cash position 1January 20X4 212000
Forecast cash position 31 December 2044 54000





Task 2

[image: image3.png](a) Complete the table below, calculate the monthly sales volume trend and identity any monthly variations.
Enter minus signs where appropriate, and round to the nearest whole number.

1 1817

2 1650 1705| 55|
3 1648 1806 -158
4 2120 1951 169
5 2085 1982| 103|
5 1741 1842| 101
7 1700 1885| -18s|
8 2214

(b) Calculate the average monthly trend. E3





Task 2 (continued)

[image: image4.png](c) Assuming there is no monthly variation in months 15 and 16, calculate the forecast sales and complete the table below.

Month 15 Month 16
(units) (units)

2135, 2170)

‘The seling price per unitis based on cost plus 40%.

‘The purchase price per unitin period 5 was £435 when the costindex was 145.

‘The costingexfor period 16 is expected to be 180

(d) Calculate the selling price for period 16.

= [r56





Task 3

[image: image5.png](a) Complete the table below to identify the total sales receipts forecast for periods 5 and 6.
Identity the forecast trade receivables balance at the end of period 3 and the irecoverable debt

provision for period 4.

Total sales receipts 138480 141780

[207280

“The trade receivables balance atthe end of period 315 forecastto be: £

[7080

“The provision for irrecoverable debts for period 4 is forecastto be: £





[image: image6.png]Purchases
The company pays its suppliers on the basis of 45% one month after the date of purchase and 55% two
months after the date of purchase.

(b) Atthe end of period 3 the balance of trade payables is forecast to be: £ [128017.50

() Complete the table below to identify the value of trade payables that will be paid in periods 4 and 5.

‘Seftlement of rade payables 8207250 83070





Task 4

[image: image7.png]‘Sales receipts 2403332 2198462
‘Share issue 1690000

Investment Income 3575|
Rentalincome 1400 1400
‘Sale of non-current asset 13170

Total receipts. 4107902 2203437
PAYMENTS

Purchases (1,432,096) (950,132)]
Wages and salaries (526,636)| (492713)]
General expenses (32,000)| (30,000)]
Mortgage payment -42000 42000
VAT payment to HURC 144000 0|
Purchase of non-current assets, -46400 8700
Dividend payment 480000
Overdraftinterest 8400

Total payments 2231532 2003545
Netcash flow 1876370 199892|
‘Opening bank balance -840000 1036370
Closing bank balance 1036370 1236262





Task 5

[image: image8.png](a) Complete the table below to calculate the forecast sales receipts expected in periods 110 41f the.
revised credit terms are offered.

Forecast sales receipts 0 0 1650000

(b) Complete the sentences below.

“The original forecasttrade receivables balance atthe end of period 415 £
The revised forecast trade receivables balance atthe end of period 4is £

[a969200

7326000





[image: image9.png](c) Calculate the effect the above will have on the cash flow of the company in months 1 to 3.

The cumulative cash flow for months 1-3will [resuce [l by [2400000





Task 6

Cash sales 

· Main reason is that an existing customer had to pay on cash terms and £45,000 was received in the month.

· The remaining £5,300 could be for various reasons including:

· New customers having to trade on cash terms.
· There could have been an increase in sales volume or an increase in selling price.
· Inaccurate forecasting.

Possible actions 

· No action may be required if it is expected that the existing customer will revert to a credit customer in future periods.  If not the budget figure may need to be revised for future periods.

Credit sales 

Possible reasons 

· Main reason is that an existing customer had to pay on cash terms so the credit sales would be lower and the cash received also lower.

· The credit control manager’s absence may have resulted in inefficient chasing leading to lower collections.

Possible actions

· If sales volumes have not improved then it is possible that the favourable variance in this period will result in an adverse variance in subsequent periods and therefore future budgets should take this into consideration

Credit purchases

Possible reason

· Main reason is that of increasing inventory levels which will increase purchases and hence increase payments.
Possible action
· The company could reduce inventory levels and therefore purchases and payments but if higher inventory levels are needed then the budget will need to be changed.

Capital expenditure 
Possible reasons 
· The only reason is that the delivery of the machine has been delayed due to the supplier’s production problems.
Possible actions
· A new supplier could be sought if the current one cannot fulfill order.

· The future cape ex budgeted payments will need to be increased.
Task 7

[image: image10.png](a) In times of recession banks often

increase the availabilly of l0ans and overdrafts

‘convert overdrafts to loans to obtain a fixed charge.

‘convert loans to overdrafts to increase interest eamed.

restrictthe availabiliy of loans and overdrafts





[image: image11.png](b) Complete the table below:

Sales revenue 1825000
Costof sales 177125
Inventaries level in the statement of inancial posiion 193500
Trade payables payment period in days %

(c) Using your answers from part (b) calculate the cash operating cycle for the company.

‘The cash operating cycle for the companyis  [52 days.





Task 8
[image: image12.png]() Which one of the following best describes a capped rate of interest?

An interestrate that s guaranteed not to exceed a specified level

An interest rate that remains the same for the period of borrowing.

An interest charge thatis linked to capital interest rates.

An interest rate that fluctuates in line with an agreed indicator.

A company invests £120,000 in shares of a quoted company X. X has 35 million £1 shares in issue.
‘The current market price of X's share is £3.84. The company's operating profitin 20X3 was £1367 million
‘The dividend paid to shareholders was 25p per share.

(b) Calculate the dividend yield for X.

The dividend yieldis [551 %

A company invests £120,000 i a fixed interest deposit account for three years. The rate of nterest is 3%.

(€) Calculate the balance in the account after three years if the interest s paid annually at the end of each
year and the interest received remains in the account.

‘The balance in the account atthe end of three years is £[131127.24





Task 8 (continued)

[image: image13.png]Abank has offered to lend a company £135,000 ata flat rate of interest of 5.8% to be repaid over 36 months in
equalinstalments.

(d) Calculate the monthly repayment of capital and interest.

‘The monthiy repayment of capital and inerest is £ [4402.50

An auction of 8% Treasury Stock 20X3 was underiaken by the UK DMO. The nomina (face value) of the Giltis
£100. A company purchased £200,000 nominal value at a price of £212,000.

(€) Calculate how much interest the company will receive for each six month period and the interest yield
{to two decimal places).

‘The company wil receive £[3000 interest every six months and the interestyield is [755 %





Task 9

Leases

· There are two main types of leases; a finance lease and an operating lease.
· The key difference is who has access to the “RISK AND REWARD” of the asset.
· An operating lease is where the risk and reward is substantially retained by the lessor and the lessee is effectively renting the asset.
· An operating lease is not recognised on the statement of financial position, but has to be shown in a note detailing the annual commitments which cannot be cancelled.
· An operating lease is “off balance sheet”.
· The statement of profit or loss will include the “rental” payments as an expense.
· The payments will be spread over the term of the lease so cash outflows will be spread over (say) 5 years for a 5 year lease.
· The gearing of the company will be unaffected as the lease is “off balance sheet”.
· Therefore the total debt on the balance sheet will be unaffected by the lease and the asset value is also unaffected, but a competent credit risk analyst will consider the size of the lease commitment and estimate a revised gearing position based upon including the operating lease as finance.

· A finance lease is where the risk and reward is substantially transferred to the lessee as if the lessee has purchased the asset with a loan.

· A finance lease has to be shown on the statement of financial position by capitalising the asset and including the loan element of the lease as borrowing.
· The finance lease includes implicit interest charges which will be charged as an expense in the statement of profit or loss.
· The cash balance will not be affected by the acquisition but will be reduced by the lease payments.
· The payments will be spread over the term of the lease, (which could be 5 years) aiding short term cash flow.
· The gearing of the company will increase because the asset base increases but so does the total debt. 

· The increase in gearing could affect the company’s ability to raise additional finance.

· The net assets will be unchanged at acquisition but the debt will increase.
· The statement of profit or loss will recognise the interest element of the finance lease payments but not the capital repayment element.

· However, the asset will be depreciated over the lease term, or perhaps longer if the UEL is greater. Therefore a depreciation charge will go to P&L.
Task 10

Land

Risk

· This is high risk as the return is unknown and uncertain. 

· Historically land is deemed to be a fairly safe investment as there is a finite supply,  however, there is uncertainty surrounding the value to a developer 

· Therefore there is a risk to the return and also to the initial investment 

Return

· If the planning permission is granted the value of the land could increase considerably.

· On the other hand if planning permission is refused then the value of the land could reduce considerably

· In the last decade land values have been volatile sometimes resulting in a substantial capital loss for investors 

· However, with planning permission the land will have a value and it is likely that a gain will be made 
· There will be additional costs (e.g. legal, planning fees, advertising etc) in both the acquisition and disposal.
· But there is always a chance that the sales value will be less than the purchases cost 

Liquidity

· Land is one of the least liquid assets due to the time it can take to sell and complete the transaction, which can take months  

· In the case where cash is needed quickly the price may have to be significantly reduced to secure a sale 
Long term bank deposit

Risk

· It is difficult to identify the risk on this investment as the interest rate is fixed and the return is guaranteed.
· Historically banks were seen as safe investments. 

· However, that has changed and although governments have bailed out banks some may still fail.
· Traditionally fixed rate accounts were seen as risk free from the perspective of the loss of capital value. However in light of the global financial crisis there is a risk of loss of capital value if the deposit is not covered by a government backed guarantee scheme.
· There is a risk that early redemption penalties may be imposed but this is usually a couple of month’s interest and there is no risk to the capital.

Return

· The return is 3.5% per annum which is lower than the expected return on the land.  This return should be guaranteed assuming it is a large UK bank which will be supported by the UK government.
· The initial investment of £500,000 is also guaranteed.
Liquidity

· The liquidity will be dependent on the terms of the investment.  The investment is for a fixed period, however it may be possible to redeem the investment early with a small interest penalty.
· Therefore the investment is readily available.
Task 10 (continued)

Gold Coins

Risk

· Investment in gold coins may be considered high risk as the price of gold can fluctuate.

· Historically gold prices have increased but recently the price of gold has dropped substantially (by 25%).

· As there is a finite supply of gold, and the commodity is becoming scarcer and more expensive to extract, the possibility is that gold prices may increase.

· However, there has been a substantial increase in gold prices since the 2008 global financial crisis with many investors seeking a commodity not associated with a single economy. 

· Some experts believe that long term gold prices will hit £2,000 an ounce yet equally as many believe long term gold prices will fall.

Return

· The return achievable cannot be identified with any certainty at the time of investment because the gold market fluctuates daily.

· There may be additional storage costs.

· There may be increased insurance premiums if the gold is kept on the company premises.

· There may be broker charges for acquisition and sale.

Liquidity

· Gold coins are tradable so liquidity is high. It would take only a few days for the company to realise its cash as long as it is prepared to take the price offered at that point in time

· The company could also realise its cash piecemeal as and when required by selling any number of gold coins it holds.

· Therefore liquidity is good but return may be uncertain due to the volatility of the gold market
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